
Time: 30 Minutes Paper Math 8 (T-1) Total Marks: 25

5th Month, 2nd Week, 6th Day Revision Test (2nd week)

Q.1 Choose the correct option (1×6=6) 
(i) The perpendicular distance from base to te apex in a pyramid
is called:_______. 
(a) two-third  (b) one-third  (c) one-fourth  (d) two-fourth 
(ii) in a right angled triangled the side opposite to the right angle

is called:   
(a) perpendicular

 (b) base  (c) hypotenuse  (d) right angle 
(iii) A straight line that touches a circle at a single point externally is

called: 
(a) chord  (b) tangent  (c) sector  (d) line segment 
(iv) If in a right angled ABC, mC = 90°, then c is called:

 C  mC = 90°, ABC  
(a) base  (b) hypotenuse  (c) perpendicular  (d) vertex 
(v) If in a right angled triangle ABC, mC = 90°,  A is a base
angle, then b is called:

 b  A  mC = 90°ABC  
(a) base  (b) hypotenuse  (c) perpendicular  (d) vertex 
(vi) An arc whose measure is less than 180° is called a_________.

 180° 
(a) minor arc  (b) major arc  (c) arc length  (d) sector area 
Q.2. Answer the following questions.   (2×7=14) 

(i) A spherical tank is of radius 7.7m. How many liters of water can it

contain

 7.7 
(ii) The surface area of a solid hemispherical object 150.86ft2. What is the

diameter of the hemisphere? 

 150.86ft2 
(iii) What will be the total surface area of a solid cone of height 4cm and

radius 3cm?

 3  4 
(iv) Tariq built a square based pyramid tent for his night camp. The base of

the tent is a square of side 2m and  the height is 3m. What is the space
occupied by the tent

 3  2 
(v) The surface area of a sphere is 576 cm2,  What will be its volume? If it

is melted, how many small spheres of diameter 1cm can be made.

 1  576 


(vi) What is the total surface area of a solid hemispherical object of radius

2cm, considering 

  2

(vii)In triangle ABC, right angle is at point C, mBC = 2 1cm and mAC =

7.2cm. What is the length of AB?

 AB mAC,7.2cm  mBC=2.1cm  C   ABC
Q.3.The composite object in the illustration, at right, consists of a hemisphere

connected to the top of a cone. Find the object's (5)

(a)  Surface area (in cm2)      (b) Volume (in cm2)




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